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1) ()

The question paper is divided into three sections A, B and
C. Write answer as per the given instructions.

I U U ‘37, '§’ 3R ‘F i @uel § fIuiiig g1 ude
Gus & MSGATIAR el & IR S|

Section - A 10 x2=20
(Very Short Answer Questions)
Answer all questions as per the nature of the question

delimit your answer in word, one sentence or maximum
up to 30 words. Each question carries 2 marks.
ug - ‘3’
(fr o7 ITRICHD U9 )
Tt TeAl & ITR QINTYI 31T 30 IR DI FEATTAR T
9eg, U d1ag I1 Ifferhad 30 gl d aRRvefifid HiforRr|
TP U9 2 3Pl ol gl

UG Rufa aar g2
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(i) ST GRT 9&T 3TURG & UHR 18y ?
(i) IR WA 2Ifch & BT gAY ?
(iv) STCTUEUl &5 T 87
(v) ¥R R g Pl TS DI IR Fqehall g ?
(vi) STt T80T HHCT & Bl TSy ?
(vii) BRT T gHmE W fewult Hifg ?
(viii) 37T ST &r=aT 8 2

(ix) YT faPRT & AT IaqRY 2
(x) &I R 8?

Section - B 4 X10=40
(Short Answer Questions)

Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 10 marks.

(Tvs - 9)
(oTg ITRIT UeA)

fAder: frgl IR WAl & IR ST MY U TR b 3fehad
200 el § IR HIfvT| U w9 10 hT & Bl

2) UIfeRul & Hedw R feugnfl Hifl

3) PN faprT & gafarofi gam@ Fa5U)

4) ma Fffa ol 3 @ aref Tuse Hifsg)
5) SRyl fddr § SFYTFGRT & a7 JTaegendT g ?
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6) IORUM ¥ I Febe TR fewoft i

7) SPpeC F9I FEIAT TG b 0T IATST
8) TSR Y[ I JUR &I dbrilh FaTSy|
9) ISR H Yoiel ol T fRfer g ?

Section-C 2xX20=40
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each
answer maximum 500 words. Each question carries 20
marks.

(Tvs - ¥)
(Sref ST 1)
fAder : gl Q Ul &1 IR VI MU 3T ITR Pl Fepey
500 91sq] H IRAAT FRAT 81 ISP U 20 Iiehi & gl
10) fagr 1 9&g ygferviy TR foRay ?
11) FAIT P BROT TG YHIE FATSY ?
12) fay o ST Heobe B fORaR I FHsSU ?

13) HaT 3IRGH P BRUT T4 YHIG FATSY ?
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